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1 A= [{Tr.j.]m . 18 @ square matrix, if
(A) m<n (B) m>n (C) m=n (D) None of these
2 Which of the given values of x and y make the following pair of matrices equal
3x+7 5 0 y-2
y+1 2-3x|°|8 4
(A) I=%, y=T (B) Not possible to find
O y=1, 1=2 D) x=l yo2
()}—-f3 (D) x==. ¥y=73
3 The number of all possible matrices of order 3 x 3 with each entry 0 or 1 is:
(A) 27 (B) 18 (C) 81 (D) 512
4 i « B i
IfA= v —a is such that A? = I, then
(A) 1+02+Py=0 (B) 1-02+Py=0
(C) l—o2-Py=0 (D) 1+02-Py=0

5 If the matrix A is both symmetric and skew symmetric, then
(A) Aisadiagonal matrix (B) A isazero matrix

(C) A is a square matrix (D) None of these

6 If A is square matrix such that A> = A, then (I + AP — 7 Ais equal to

(A) A (B) I-A (C) 1 (D) 3A
7 If A, B are symmetric matrices of same order, then AB — BAis a
(A) Skew symmetric matrix (B) Symmetric matrix
(C) Zero matrix (D) Identity matrix
1 2 0]0
8 | For what valuesof x: [I 2 1]|2 0 1||2|=0?
1 0 2||«x

1|ISWK/X/Dept Of Mathematics/Work Sheet/Matrix- 2/J01JI



31
9 IfA=[ , 2}shnwthatA3—5A+?I:D.
1 0 2||x
10 | Findx,if [x =5 -1]j0 2 1|/4|=0
2 0 3|1
1 2 3 -7 8 9
11 | Find the matrix X so that X = '
4 6 2 4 6
3 4
L -1 2 1 -
12 |If A’=1—1 2! and B= L 3 , then verify that
0 1 )
i) (A+BY=A"+B (i) (A—-B)Y=A"-PB
o, |2 3 -1 0 ) )
13 |If A = and B= , then find (A + 2B)
1 2 1 2
(1 -1 5
14 | (i) Show that the matrix A =|—1 2 1| is a symmetric matrix.
B 1 3
0o 1 -1
15 | (ii) Show that the matrix A=|—-1 0 1 | is a skew symmetric matrix
1 -1 0
16 | Express the following matrices as the sum of a symmetric and a skew symmetric matrix
6 -2 2 3 3 -1
3 5 .
(1) L J (i -2 3 -l () |2 -2 1
2 -1 3 -4 -5 2
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